Fluency 15 8th Jan.notebook January 05, 2021

Fluency Fifteen (8121 ]

Place Value

1. What is the value of the underlined digit? 3597
2. What is the value of the 7 in 357.957

3. Use the symbols < > or = to make this correct.

32+8 56 =7
4. Put these lengths in ascending order:
58mm  30cm 20mm  4cm

. What is 900 more than 12567

. Round 8735 to the nearest thousand

. Round 468 to the nearest ten

0o N O O,

. What number is the arrow pointing to?
| | jr | I | |
750—— — 11390

9. Complete the sequence: 829, 819, , | 789,
10. Write down an even number between 8320 and 8330
11. Write the number 7813 in words

12. Write 52 in Roman Numerals

13. 3852 + 2183 =

14. 9861 - 4483

15. Find the difference between 6826 and 932
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